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Use properties of logarithms of find the exact value of each expression. Do not use a calculator.
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Assuming x and y are positive, use properties of logarithms to write the expression as a sum and/or
difference of logarithms or multiples of logarithms. Express exponents as factors using the power property.
Simplify if possible
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Assuming x, y and z are positive, use properties of logarithms to write the expression as a single logarithm.
Simplify if possible.
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Use the Change-of-Base Formula and a calculator to evaluate each logarithm. Round your answer to three
decimal places. You must write the Change-of-Base expression.
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